



## **TECHNICAL SPECIFICATIONS**

## SUPPLY AND DELIVERY OF YEAR-END AND ANNUAL SUPPLIES CY 2023 OF BAFE EMPLOYEES

### I. APPROVED BUDGET FOR THE CONTRACT (ABC)

The ABC for the Supply and Delivery of Year-end and Annual Supplies CY 2023 of BAFE Employees is **One Million Two Hundred Thirty-One Thousand Two Hundred Pesos (1,231,200.00)** inclusive of all applicable government taxes and charges, professional fees, and other costs.

### II. PLACE OF DELIVERY

All items shall be delivered at BAFE Office, Sugar Center, Annex II Building Extension, North Avenue, Diliman, Quezon City.

- 1. Items should be packed in the plastic box container with a list of items upon delivery (Please see attached Annex A for the list of items per box).
- 2. All items including the plastic box must be delivered in good condition. Hotdog and Ham shall be packed together in an insulated bag.
- 3. Non-perishable items shall have at least one (1) year expiration from the delivery date **except** for the following items:
  - Filled Cheese at least 430g (at least 4 months)
  - Creamy Peanut Butter at least 16.3oz (at least 8 months)
  - Condensed Milk at least 300 ml (at least 6 months)
  - All-purpose cream at least 250ml (at least 6 months)
- 4. The following items must have "Halal Certified":
  - 1 kg Chicken Ham
  - 1 kg Chicken Hotdog
  - Chicken Luncheon Meat 360 g
- 5. Delivery date: Not later than November 27, 2023.
- 6. Non-compliance with any stated conditions and specifications shall be subject to non-acceptance/non-payment.
- 7. Payment shall be made **thirty (30) days** upon complete delivery and compliance with the required documents for payment.
- 8. Liquidated damages equivalent to **one-tenth of one percent (0.1%)** of the value of items not delivered on or before **November 27, 2023**, shall be imposed **for every day** of delay.



#### Republic of the Philippines BUREAU OF AGRICULTURAL AND FISHERIES ENGINEERING

SRA Compound, Annex II Building Ext,

IMENT

BAGONG PILIPINAS

North Avenue, Diliman, Quezon City (02) 8351-8120, (02) 8294-9741

ITEM DESCRIPTION	QTY	UNIT COST	ABC
LOT 1			
Ham (Pork) at least 1 kg	102	670.00	68,340.00
Ham (Chicken), at least 1 kg	12	495.00	5,940.00
Hotdog (Pork), at least 1 kg (jumbo)	102	227.50	23,205.00
Hotdog (Chicken), at least 1 kg (jumbo)	12	225.00	2,700.00
Spaghetti Noodles, at least 900g	114	120.00	13,680.00
Elbow Macaroni, at least 400g	114	80.00	9,120.00
Spaghetti Sweet Blend Sauce, at least 1 kg	114	105.00	11,970.00
Luncheon Meat 25% Less Sodium, at least 340g, 12 oz	510	230.50	117,550.00
Luncheon meat (Chicken), at least 360g	168	95.00	15,960.00
Corned Beef, at least 380g	342	195.00	66,690.00
Vienna Sausage, at least 130g	570	65.00	37,050.00
Fruit Cocktail in Light Syrup, at least 836g	228	95.00	21,660.00
Pineapple Tidbits, at least 822g	114	105.00	11,970.00
Real Mayonnaise, at least 470ml (pouch)	228	220.00	50,160.00
Filled Cheese, at least 430g	228	150.00	34,200.00
Creamy Peanut Butter, at least 16.3oz	114	250.00	28,500.00
Condensed Milk, at least 300ml	228	60.00	13,680.00
All Purpose Cream, at least 250ml	456	75.00	34,200.00
Chocolate Powdered Drink, at least 624g	114	200.00	22,800.00
Coffee in Glass Jar, at least 200g	114	710.00	80,940.00
Coffee Creamer, at least 450g	114	130.00	14,820.00







Plastic Box, at least 30 liters with wheels	114	350.00	36,480.00
Sub-total			725,040.00
LOT 2			
Well Milled Rice (25kg/sack)	342	1,480.00	506,160.00
Sub-total			506,160.00
TOTAL			1,231,200.00

Prepared by:

RHODÓRA<sup>T</sup>R. CONCEPCION Procurement Coordinator, AFD

Noted by:

LOURDES C. BONIFACIO Chief, AFD





**ANNEX** A

# SUPPLY AND DELIVERY OF BAFE YEAR-END SUPPLIES

(Quantity of Items per box)

# A. Regular Basket (102)

<b>ITEM DESCRIPTION</b>		QTY	
Ham (Pork), at least 1 kg		1	
Hotdog (Pork), at least 1 kg (jumbo)		1	
Spaghetti Noodles, at least 900g		1	
Elbow Macaroni, at least 400g		1	
Spaghetti Sweet Blend Sauce, at least 1 kg		1	
Luncheon Meat 25% Less Sodium, at least 340g, 12	OZ	5	
Corned Beef, at least 380g		3	
Vienna Sausage, at least 130g		5	
Fruit Cocktail in Light Syrup, at least 836g		2	
Pineapple Tidbits, at least 822g		1	
Real Mayonnaise, at least 470ml (pouch)		2	
Filled Cheese, at least 430g		2	
Creamy Peanut Butter, at least 16.3oz		1	
Condensed Milk, at least 300ml		2	
All Purpose Cream, at least 250ml		4	
Chocolate Powdered Drink, at least 600g		1	
Coffee in Glass Jar, at least 200g		1	
Coffee Creamer, at least 450g		1	
Plastic Box, at least 30 liters with wheels		1	
	TOTAL	36	







# B. Special Basket (12)

ITEM DESCRIPTION		QTY
Ham (Chicken), at least 1 kg		1
Hotdog (Chicken), at least 1 kg (jumbo)		1
Spaghetti Noodles, at least 900g		1
Elbow Macaroni, at least 400g		1
Spaghetti Sweet Blend Sauce, at least 1 kg		1
Luncheon meat (Chicken), at least 360g		14
Corned Beef, at least 380g		3
Vienna Sausage, at least 130g		5
Fruit Cocktail in Light Syrup, at least 836g		2
Pineapple Tidbits, at least 822g		1
Real Mayonnaise, at least 470ml (pouch)		2
Filled Cheese, at least 430g		2
Creamy Peanut Butter, at least 16.3oz		1
Condensed Milk, at least 300ml		2
All Purpose Cream, at least 250ml		4
Chocolate Powdered Drink, at least 600g		1
Coffee in Glass Jar, at least 200g		1
Coffee Creamer, at least 450g		1
Plastic Box, at least 30 liters with wheels		1
	TOTAL	45

